

Charge & Cost Measure Calculations

At Syntellis Performance Solutions, LLC, we strive to make your data versatile enough to provide concise answers to your specific questions. To do that, all of our calculations are done at the encounter level, then, in Clinical Analytics, you can pull only the cases relevant to your request to provide a more precise and applicable answer.

Keep in mind that you will see cost/charge calculations throughout Axiom Clinical Analytics, but we will use the <u>Charges and Costs Detail</u> section in this example. To walk you through what you're seeing on your scorecard, let's talk through the calculations at the patient level, then take a look at what you'll see for a profile. This document will guide you through understanding the Cost calculations; the logic is the same for Charges. To begin, navigate to a Charges and Costs Detail section in any scorecard, or add one to the scorecard of your choice.

For patient-level data

We will refer to this single encounter to understand the calculations, then scale up to what you'll see for a typical profile. If you'd like to replicate a similar view, create a profile with a single encounter.

Description	Category [‡]	Encounters [‡]	Average Costs	Total Costs	Average Benchmark 🗘	Total Opportunity	Average Opportunity
Clinic Visit	Other	1	\$815,187	\$615,167	\$2,208	\$812,959	\$612,959
Accommodation - Private, Semi Private, Ward - Inpatient	Routine	1	\$2,702	\$2,702	\$2,135	\$587	\$567
Laboratory and Pathology	Diagnostic	1	\$490	\$490	\$206	\$284	\$284
Occupation Therapy	Therapeutic	1	\$161	\$161	\$137	\$25	\$25
Blood Use	Therapeutic	1	\$0	\$0	\$0	\$0	\$0
Durable Medical Equipment	Supplies	1	\$0	\$0	\$0	\$0	\$0
Lithotripsy	Therapeutic	1	\$0	\$0	\$0	\$0	\$0
Organ Acquisition	Therapeutic	1	\$0	\$0	\$0	\$0	\$0
Outpatient Services	Other	1	\$0	\$0	\$0	\$0	\$0
Used Durable Medical Equipment	Supplies	1	\$0	\$0	\$0	\$0	\$0
Anesthesiology	Therapeutic	1	\$0	\$0	\$2	\$-2	\$-2
Speech Pathology	Therapeutic	1	\$0	\$0	\$3	\$-3	\$-3
Blood Administration	Therapeutic	1	\$0	\$0	\$5	\$-5	\$-5
Professional Fee	Therapeutic	1	\$0	\$0	\$6	\$-6	\$-6
Emergency Department	Therapeutic	1	\$313	\$313	\$329	\$-17	\$-17
ESRD Revenue Setting	Therapeutic	1	\$0	\$0	\$17	\$-17	\$-17
Cardiology	Diagnostic	1	\$0	\$0	\$18	\$-18	\$-18
Ambulance	Other	1	\$0	\$0	\$34	\$-34	\$-34
Physical Therapy	Therapeutic	1	\$178	\$178	\$232	\$-55	\$-55
Respiratory Therapy	Therapeutic	1	\$0	\$0	\$93	\$-93	\$-93
Pharmacy	Therapeutic	1	\$398	\$398	\$510	\$-112	\$-112
Operating Room and Labor & Delivery	Therapeutic	1	\$0	\$0	\$115	\$-115	\$-11 5
Radiology, CT, Oncology & Nuc. Med.	Diagnostic	1	\$94	\$94	\$211	\$-117	\$-117
MRI	Diagnostic	1	\$0	\$0	\$224	\$-224	\$-224
Medical/Surgical Supplies	Supplies	1	\$91	\$91	\$425	\$-334	\$-334
Other	Other	1	\$0	\$0	\$368	\$-368	\$-368
Critical Care / Intermediate ICU	Routine	1	\$0	\$0	\$850	\$-850	\$-850
Total	Total	1	\$619,594	\$619,594	\$7,899	\$611,694	\$811,694

Description: the farthest-left column gives a list of cost centers which are each assigned to a Category. Let's take a look at the "Clinic Visit" cost center (top row) to see what each of these columns represents.

Encounters indicates the number of cases in the patient population for these calculations (at the case level, this will be 1 because you are only looking at the one encounter). The values in this column are blue to



indicate that they are hyperlinked. Clicking one of the values will drill in to a Details Section view of that domain.

Total Costs is the sum of all costs for that cost center. Here, Total Costs=\$615,167.

Average Costs=Total Costs/Encounters. Here, Average Costs=615,167/1=\$615,167.

At the encounter level, Average Costs equal Total Costs, because Encounters=1.

Average Benchmark is a fixed number calculated by our software based on the chosen time Period, Benchmark Profile, and Benchmark Period at the top of the scorecard section. This number takes into account our database of records in the chosen peer group. It is important to note that the benchmarks are risk-adjusted based on whether you selected MS-DRG or APR-DRG as your Grouping Type when creating your profile. A benchmark value is determined at the given percentile for the DRG stratification level of each encounter. All of these benchmark values are then averaged across all encounters in the chosen profile; see <u>Benchmark Calculations</u> and <u>Cost Benchmarks</u> for more information. Here, Average Benchmark = \$2,208.

About Calculating Benchmark Quantiles: Quantiles are cut-points in the data that divide the range of values into equal probabilities. Clinical Analytics Software chooses to cut the data into 5% intervals (1% chunks are called percentiles). All values in the database for the measure are ordered from least (0th percentile) to greatest (100th percentile), then the system sets the 5% quantile cutoffs. When you request a particular quantile, the value you see is greater than the chosen percent of the data.

Total Opportunity: for each encounter, we calculate the difference between the total costs for that cost center and the benchmark value for that DRG stratification level. These differences are then summed together to get the Total Opportunity for that cost center. At the patient level, this value is the difference between what that patient's encounter cost your facility and the average benchmark for your peer group. A red (positive) value indicates costs greater than others in your peer group; a green (negative) value indicates costs lower than those of your selected peer group. Here, Total Opportunity=\$612,959.

Average Opportunity = Total Opportunity/Encounters. At the patient level, because Encounters=1, Average Opportunity is equal to Total Opportunity. Here, Average Opportunity= 612,959/1= \$612,959.



For more than one encounter (most profiles)

When we consider multiple cases, the same interactions between the columns still apply on the patient level, as described above, but we are now taking into account all Encounters within the indicated time Period for your selected Profile (note that Encounters should now be greater than 1). The important difference you may notice when you zoom out from the case-level to look at all cases included in the selected Profile is the cost center row titled Total.

harges and (Costs D	etail						
Type: Charges V		() APR-DRG						
Profile: Health System		Period:		Jul 15 V through Dec 15 V		gh Dec 15 🗸		
Benchmark Profile: Nationwide All Page		yer V Benchmark Period: Active			Benchmark Period			
•			. +	Chart for Charge				
Description	Category	Encounters	Average Charges	Total Charges	Average Benchmark	Total Opportunity	Average Opportunity	Chart for Charges
Critical Care / Intermediate ICU	Routine	14402	\$4,664	\$67,167,964	\$1,064	\$51,848,874	\$3,600	Average Charges Detail - Health System - Jul 15 to Dec 15
Operating Room and Labor & Delivery	Therapeut	ic 14402	\$5,433	\$78,244,882	\$2,956*	\$35,665,228	\$2,476	
Pharmacy	Therapeut	ic 14402	\$4,479	\$64,502,519	\$2,206	\$32,691,657	\$2,270	
Medical/Surgical Supplies	Supplies	14402	\$5,588	\$80,484,589	\$3,481	\$30,324,348	\$2,106	Critical Care / Interm Clinic Visit
Accommodation - Private, Semi Private, Ward - Inpatient	Routine	14402	\$4,929	\$70,981,963	\$2,897*	\$28,821,513	\$2,001	Laboratory and Patholo Lithotripsy Medical/Surgical Suppl
Respiratory Therapy	Therapeut	ic 14402	\$1,931	\$27,813,132	\$320	\$23,046,810	\$1,600	MRI Occupation Therapy Professional Fee
Radiology, CT, Oncology & Nuc. Med.	Diagnostic	14402	\$2,058	\$29,634,892	\$1,118	\$13,527,038	\$939	Operating Room and Lab J Pharmacy
Cardiology	Diagnostic	14402	\$1,731	\$24,934,570	\$803	\$13,349,798	\$927	
Other	Other	14402	\$722	\$10,392,963	\$33*	\$9,910,183	\$688	
Emergency Department	Therapeut	ic 14402	\$1,037	\$14,931,350	\$578	\$6,632,910	\$461	
Occupation Therapy	Therapeut	ic 14402	\$370	\$5,327,718	\$48	\$4,623,451	\$321	
Laboratory and Pathology	Diagnostic	14402	\$2,811	\$40,485,286	\$2,531	\$4,017,633	\$279	
Blood Administration	Therapeut	ic 14402	\$331	\$4,768,745	\$54	\$3,982,801	\$277	
Physical Therapy	Therapeut	ic 14402	\$440	\$6,331,630	\$174	\$3,828,811	\$266	
MRI	Diagnostic	14402	\$293	\$4,216,435	\$40	\$3,643,795	\$253	
ESRD Revenue Setting	Therapeut	ic 14402	\$154	\$2,215,589	\$1^	\$2,202,707	\$153	
Speech Pathology	Therapeut	ic 14402	\$143	\$2,056,428	\$2	\$2,028,205	\$141	
Anesthesiology	Therapeut	ic 14402	\$418	\$6,013,330	\$393	\$358,542	\$25	
Lithotripsy	Therapeut	ic 14402	\$3	\$46,225	\$0*	\$46,225	\$3	
Clinic Visit	Other	14402	\$2	\$26,077	\$0^	\$26,077	\$2	
Professional Fee	Therapeut	ic 14402	\$0	\$4,778	\$0*	\$4,778	\$0	
Ambulance	Other	14402	\$0	\$0	\$0	\$0	\$0	
Blood Use	Therapeut	ic 14402	\$0	\$0	\$0^	\$0	\$0	
Durable Medical Equipment	Supplies	14402	\$0	\$0	\$0	\$0	\$0	
Organ Acquisition	Therapeut	ic 14402	\$0	\$0	\$0	\$0	\$0	
Outpatient Services	Other	14402	\$0	\$0	\$0	\$0	\$0	
Used Durable Medical Equipment	Supplies	14402	\$0	\$0	\$0^	\$0	\$0	
Total	Total	14410	\$37,571	\$541,392,636	\$32,317†	\$75,115,399	\$5,213	
3enchmark Peri	od: Ann	ual 2012 † A	nnual 201	3				



The Total row

At the bottom of the cost center list, there is a row labeled Total. It is important to think of the Total row as a cost center of its own (it even has its own Category). While it seems natural to add all the values in a column to arrive at the Total, there is not a viable interpretation for this because of the way the other rows are constructed.

Let's walk through each of these columns again in terms of the Total row

Encounters for the Total row will not always be the same as the Encounters value for the rest of the cost centers. The Total number of Encounters includes all cases submitted to us in your data that are applicable to your selected Profile; the number of Encounters for the remaining cost centers includes only cases from the selected Profile that were included in one of the listed cost centers. Cost centers are assigned based on revenue codes and occasionally discrepancies in the submitted data can cause these numbers to not match up. <u>Contact Support</u> to let us know if there are large discrepancies in these values so we can discuss your data. In this example, we see that there are 8 encounters included in the Total row not included in the other cost centers.

Total Costs is the sum of all encounter-level Total Costs values for all included cases; this should be roughly close to the actual sum of the Total Costs for each other cost center you see in the table.

If the Encounters values are different, this value will reflect that, as it is also including costs for any encounters not in the listed cost centers.

Average Costs = Total Costs/Encounters. This is the exact result of dividing the given values from the Total row.

Average Benchmark is calculated the same as above, noting that Total is its own cost center with its own Benchmark value; this is why strictly summing the columns to the right of this value will not foot to the given value in the Total row. The Benchmarks come from a complex calculation and there is not a meaningful interpretation for the sum of benchmarks, so Total is a separate benchmark calculation.

Total Opportunity: for each encounter, we calculate the difference between the total costs for that encounter and the benchmark value for that DRG stratification level. These differences are then summed together over all encounters to get the Total Opportunity for that cost center. A red (positive) value indicates costs greater than others in your peer group; a green (negative) value indicates costs lower than those of your selected peer group.

Average Opportunity = Total Opportunity/Encounters. When positive, this number indicates patients costing more, on average, than patients among your peer group; when negative, this indicates costs being less, per patient, than your peer group.